Math373 Quiz 2

Name: SO{OJFLM

Directions: Show all work. No credit for answers without work.

Fri. Jan 27, 2023
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2. [2.5 points] Let a = 9169, b = 1007, and let d = gcd(a,b). Use the extended Euclidean
algorithm to compute d and integers v and v such that d = ua + vb.
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3. [2 parts, 2.5 points each] Consider the following 1-person game, played on the number
line. Initially, the player begins at 0. At each step, the player can move 525 units or 462 units
in either direction.

(a) What is the smallest positive integer on which the player can land, and why?
L d= 4ed(525, 462) 9= 462 +(E(3)
462 4 (-7)[ 525 ¢ (4e2) ]

() (462) + (-7)(525).

]

95 = (Oez) + 63
doz = (7)(63) + 2l
(L3 = W) +o

ged (525, 462) = 21
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(b) What is the smallest positive even integer on which the player can land, and why?
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